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Solving Sequence
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8>7—>3—>4—>9—>5—>1->10—>6—>12~> 11> Cs,C10
Cr C2 €3 Cg C4 C1 Cg C C12 €11

A knot diagranﬂ
Ideals for irreducible componentfbf Xpar

If:<u83—u82+~-~—u2—1>

* 1 irreducible components of dim¢ = 0, with total 83 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIf=(u®®—ud?+... —u?—1)

(i) Arc colorings
0
a2 = u
ag —
a7 =
as =

aq =

u9—|—2u7—|—u5—2u3—u>

—’LL14 _ 3U12 _ 4’LL10 _ U8 + 1
—ul® — 41t — 8ul? — 8ul0 — 448 + 200 + 4ut + 2u?
—u30 —10u?" + - 4+ Tu + 6u°

—ut =110 + - 20+ u
—u?? — 6u?! — 16u® — 2067 — 4u'® + 220" + 260! + 6u” — 9u” — 6u®
uB + 7Tt + 20t 4

—ub? —17u%0 4 -+ 6ul + 1
ail =

(
(
(
(
(
(
(
(
(

u®2 4+ 18u80 + ... — 1208 + u?

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u8t — 4u80 + ... + 4y — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! uP AT - 2u -1

C2,C7 uB 4+t 1

C3,C4,C8 w4 41240+ 17
Cs uB +u®? 4 4 450u + 317

C6,C11 u® —u® Ut 41
Co u — 11u%% + - 4+ 98u — 29
€10 u® =390 4+ ... —2u+1
c12 u® — 5u®? + - — 24220 + 1767




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1 v 21y 4 Gy —1

C2,Cr7 Yy ATyPE 2y — 1

€3, ¢4, Cg Y53 — 89152 + ... 4+ 16906y — 289

Cs y®3 — 17y + - + 3479646y — 100489

C6, C11 Yy 43982 4 -2y —1
Co Y™ —9y®? 4. — 36274y — 841
10 Y311y 4 — 14y — 1
12 Y3 4+ 2782 + ... — 121693646y — 3122289




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
= —0.133220 4 0.9916551 0.112602 — 1.0227901 0
= —0.133220 — 0.9916551 0.112602 + 1.0227901 0
= 0.464485 4 0.9015151 3.37380 4 4.665211 0
= 0.464485 — 0.9015151 3.37380 — 4.665211 0

0.460237 + 0.8439651

2.23760 — 2.685771

—61.406699 4 0.101

= 0.460237 — 0.8439651

2.23760 + 2.685771

— 61.406699 4 0.101

= —0.412629 + 0.8679161

—0.09451 — 1.650971

—2.00000 + 3.875361

—0.412629 — 0.8679161

—0.09451 + 1.650971

—2.00000 — 3.875361

= 0.180004 + 1.0627101 —4.06382 — 0.994151 0
= 0.180004 — 1.0627101 —4.06382 + 0.994157 0
= —0.158085 + 1.0739601 —2.03798 + 5.864011 0
= —0.158085 — 1.0739601 —2.03798 — 5.864011 0
= —0.481262 + 0.9763591 2.43576 — 4.318011 0
= —0.481262 — 0.9763591 2.43576 4 4.318011 0
= 0.240406 + 1.0635301 —4.57539 + 0.995121 0
= 0.240406 — 1.0635301 —4.57539 — 0.995121 0
= —0.272320 + 1.0760701 —3.03173 — 5.703251 0
= —0.272320 — 1.0760701 —3.03173 + 5.703251 0
= 0.442956 + 1.0187501 —3.12620 + 5.105271 0
= 0.442956 — 1.0187501 —3.12620 — 5.105271 0
= 0.481407 + 1.0024601 —1.91913 + 6.941681 0
= 0.481407 — 1.0024601 —1.91913 — 6.941681 0
= —0.405689 + 1.0361901 —2.06362 — 0.626411 0
= —0.405689 — 1.0361901 —2.06362 + 0.626411 0
= —0.493791 + 1.0016601 0.34760 — 11.859901 0
= —0.493791 — 1.0016601 0.34760 4 11.859901 0

0.869469 + 0.0629811

—4.54025 — 10.837201

—2.95711 + 7.164061

= 0.869469 — 0.0629811

—4.54025 + 10.837201

—2.95711 — 7.164061

0.870200 + 0.0275761

—6.76117 4+ 1.631371

—5.57883 — 2.578221

S| || |e|e|2 || (g e |g|2|e|g|g|g|g|g|g|g|g|g|g|ge|=

0.870200 — 0.027576.1

—6.76117 — 1.631371

—5.57883 + 2.578221




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —0.869280 + 0.0386021

—7.89508 + 3.309971

—7.43042 — 3.234151

u = —0.869280 — 0.0386021

—7.89508 — 3.309971

—7.43042 + 3.234151

u = —0.868116 + 0.0568021

—6.74487 4 5.741301

—6.14356 — 3.208581

u = —0.868116 — 0.0568021

—6.74487 — 5.741301

—6.14356 + 3.208581

u=0.853560 + 0.0576381

—2.00681 — 3.242041

0.21808 + 1.918801

= 0.853560 — 0.0576381

—2.00681 + 3.242041

0.21808 — 1.918801

uw=0.809740

—2.84497

—3.18540

u = 0.485858 4 0.628329]

2.83112 4 6.658921

2.83091 — 7.703581

u = 0.485858 — 0.6283291

2.83112 — 6.658921

2.83091 + 7.703581

u = —0.274315 + 0.7444031

—0.270932 — 1.3678801

—2.47570 + 5.357241

u = —0.274315 — 0.7444031

—0.270932 4 1.3678801

—2.47570 — 5.357241

u = —0.788512 + 0.0333841

0.20844 + 3.737831

1.09851 — 4.050171

u = —0.788512 — 0.0333841

0.20844 — 3.737831

1.09851 + 4.050171

u = —0.443590 + 0.6245801

0.55457 — 2.060351

—0.38344 + 4.135621

u = —0.443590 — 0.6245801

0.55457 + 2.060351

—0.38344 — 4.135621

u = 0.480548 4 0.557812]

4.32394 — 0.702521

6.01189 — 0.111591

u = 0.480548 — 0.5578121

4.32394 + 0.702521

6.01189 + 0.111591

u = —0.448739 + 1.2098701 —3.40183 — 0.647251 0
u = —0.448739 — 1.2098701 —3.40183 + 0.647251 0
u = —0.470662 4 1.2113301 —3.24116 — 8.310201 0
u = —0.470662 — 1.2113301 —3.24116 + 8.310201 0
u = 0.460140 + 1.2200601 —6.43985 + 4.546051 0
u = 0.460140 — 1.2200601 —6.43985 — 4.546051 0

u = —0.570994 4 0.3829171

2.05864 + 7.621041

1.38296 — 6.807211

u = —0.570994 — 0.3829171

2.05864 — 7.621041

1.38296 + 6.807211

u= 0.431215+ 1.2441701

—5.94329 4 1.260471

0

u= 0431215 —1.2441701

—5.94329 — 1.260471

0

u = —0.524837 4 0.4264221

3.94874 4 0.215111

5.20374 — 0.319011

u = —0.524837 — 0.4264221

3.94874 — 0.2151171

5.20374 4 0.319011

u= 0.489637 + 1.2315001

—5.52049 4 8.083641

0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u= 0.489637 — 1.2315001 —5.52049 — 8.083641 0
u = 0.428440 + 1.2545201 —8.55613 — 6.291781 0
u=0.428440 — 1.2545201 —8.55613 4 6.291781 0
u = —0.432241 + 1.2532901 —10.73130 + 1.179291 0
u = —0.432241 — 1.2532901 —10.73130 — 1.179291 0
u = —0.443165 + 1.2525201 —11.81410 — 1.318171 0
u = —0.443165 — 1.2525201 —11.81410 4+ 1.318171 0
u= 0.449371 + 1.2520301 —10.64110 + 6.298201 0
u=0.449371 — 1.2520301 —10.64110 — 6.298201 0
u = —0.492052 + 1.2378801 —10.2955 — 10.63451 0
u = —0.492052 — 1.2378801 —10.2955 + 10.63451 0
U 0.495073 + 1.2372601 —8.0709 + 15.75007 0
w=0.495073 — 1.2372601 —8.0709 — 15.75001 0
u = —0.483809 + 1.2417601 —11.51720 — 8.162141 0
u = —0.483809 — 1.2417601 —11.51720 + 8.162141 0
u= 0.478597 + 1.2439101 —10.42700 + 3.1948471 0
u=0.478597 — 1.2439101 —10.42700 — 3.194841 0
u = 0.546008 + 0.3660041 —0.17694 — 2.808341 | —1.96326 + 3.215081
u = 0.546008 — 0.3660041 —0.17694 + 2.808341 | —1.96326 — 3.215081
u = —0.545383 + 0.1488641 0.31558 — 3.003321 | —1.47850 + 2.746141
u = —0.545383 — 0.1488641 0.31558 4 3.003321 | —1.47850 — 2.746141
uw=0.500212 + 0.2578891 —1.12463 — 1.274781 | —4.20587 + 3.816371
uw=0.500212 — 0.2578891 —1.12463 4 1.274781 | —4.20587 — 3.816371




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1 ud 4+ 4T - 2u— 1
2, C7 uB a4+ 1
C3,C4,C8 B —u®? 4 4 1240+ 17
Cs uB 4+ uB? + - 4 450u + 317
C6, C11 u® - 4w 1
9 u®® — 11u®? + - + 98u — 29
C10 u® —39u®? 4 —2u+1
c12 u® — 5uB? .- — 24220 + 1767




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

1 Y =21y 4 — 6y — 1

C2, Cr Y ATy 2y 1

C3,Ca, Cs Y33 — 8932 + .. + 16906y — 289

Cs y® —17y% + - + 3479646y — 100489

Cg, C11 y83+39y82+~--—2y—1
co Y™ —9y82 4 ... — 36274y — 841
10 B 112 4 — 14y — 1
c12 Y™ 2795 + ... — 121693646y — 3122289




